21

(1) 2) LAN  (3)
@
)
@
177
316
11 21

21

95

60

LAN

38




Q)
18% 19% 2% 19% 17% 17%
35% 0%
14%
33% 60% 52% 66%
O O 5] 7]
82 98 84 83
80% CAl
0% 5% 0% 8% 5%
14% 15% 18% O WindowsNT
O Widons
B NetWare
81% o 68% -
(] {]
(O] 14 13 46
0OS Windows95/98
WindowsNT Windows (01 Linux

NetWare

53h

O Vevs
@ \ivs

O
84 o

47 Windows3.1

oS Windows95/98 84
oS 78 oS

56
61




" 57% 21% 40% o5 o%
27%
75%
|
13
86
58
20 30%
)
LAN
11 12 LAN 18
LAN
LAN

156 64 32 61258 82%
21 31 6 0| 58(18%)

10

62




LAN oS Windows95/98 46 WindowsNT 38 Windows oS
84 16 UNIX
PC-UNIX Linux

4%

12%

O Windows

46% m WindowsNT

O

Bl UNIX
LAN
50 1] ]
40 = -

: | ]

2 | ]
: O -

O - —

LAN LAN
LAN

63



(2)
LAN

LAN
)
)

LAN
)

10 10Mbps

10BASE-T LAN

10BASE-T LAN

64

LAN

LAN

LAN

10BASE-T
T




10BASE-T LAN

10BASE-T LAN

100m

@)
LAN

(O NetBEUI IPX/SPX AppleTalk
TCP/IP(Transmission Control Protocol/Internet Protocol)
LAN
TCP/IP IP
255

@)

0N (0N

WindowsNT Server Microsoft
oS WindowsNT Server

(a) 32 GUI(Graphical User Interface)

(b)

65

100m



®

LAN

(© NetBEUI

(d)

NetWare Novell MS-DOS

MS-DOS  Windows95/98 Macintosh oS
IPX/SPX (O
Windows95/98 (O]

LAN
IPX/SPX  TCP/IP
€))
(b)
(© oS
MacOS Apple (O
TCP/IP WindowsNT
UNIX
(O]
UNIX Linux FreeBSD
WWW UNIX
(a) TCP/IP
(b)
() PC-UNIX
WindowsNT UNIX
LAN LAN
WWW

66

(0N

GUI
NetBEUI

GUI

AppleTalk

PC-UNIX

PC-UNIX



NASA

LAN

LAN

LAN

LAN

Www

LAN
()

67

LAN

TCP/IP

LAN

Www



()

()

4

LAN

LAN

0N

PC-UNIX

WindowsNT Server

20

LAN

68




——> | SDN

L—%— )
= ERARY FT—2

T T T T T T T T T T R ko~

7 ERAPS (28) sgAPC (148)  HEAPC L.

OB (1 6A—r) | | | 1

e I ! | ! ]

] @ @ |

z /

S .
e i e g pm iy i —

HUB (8 — )

'——_,_,_._,_,_._._,_-_——/

——————————————————————— =z
HUB (84 — ) ~
TrANY—n AN
/ (BAT—2HR)
f #HEH@E A FnotePC
(A
|
| :
|
: BEE (BHQEFPC) GEE g
| [] ]
| — = =k
|
| ENE
‘ [ ]
\
\ e /
N Fe
=3 -
N i e R G e Do e et swe  n mn @ mne mee sl gl g mwen e oo gy m e ooy -—
oo FArLTyTER
____________ wagEg ]
s sl
%.Z%Fﬁ;ylf%—ﬁ LAN-~
BEE (FHavth)
BipE (FFEavt2 k)
EMHRLAN (PC28)
10/100HUB (94" — 1) 10/ 100HUB (44" — 1)
33 e L]
| TEpE (AAI oL o) I
10/100HUB (47" - ) B2 EfE (MR LE )
T
10/100HUB (9% - ) 10/100HUB (94" - 1)
(= T 1) =
A tiﬁﬁg(ﬁﬁ:‘/t"/ k) | EEE (WHEavE b
wRE (BRI L ) E1EHE (WEavEv )
E1ERE (B b) HoEEE (HHavty k)
goggE(HHavEr M) I

—8
—a

69



@

¢))

LAN

Windows95
WindowsNT

Linux

70

LAN

11
11
11
11
11
11

1999

1995

1996

1997

1999



